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Sample Paper – 2013
Class – IX
Subject – Mathematics
Section A

[image: image1.png]The remainder when 2x® —5x° — 7 is divisible by x — 2 is
a 12

b 16
c -9
d 2




[image: image2.png]The value of the polynomial—9x% — 5x + latx = —% is

a0 o





[image: image3.png]The three vertices of a rectangle ABCD are A(2,—3),B(5,—3) and C(5,0). The
coordinates of fourth vertex Dis__.

2-3)

b (20)
c (05)
d (5-3)

»




[image: image4.png]The point (2, —3) lies in the ___ quadrant.
a I

b1
o
d w




[image: image5.png]Given two distinct points, the number of lines that passes through both of them is/are ...
a 2

b1
¢ infinite
d 0




[image: image6.png]The measure of an angle that is 18° less than its complement is
a. 54°

b 64°
. 36°
d. 38°




[image: image7.png]8. ABCis a triangle in which £4 = 75°and £B = 70°. Which of the following is true for the
sides of a triangle?

a BC<AB
b. AB> AC
¢ BC> AC

d. AC= BC




[image: image8.png]The area of an equilateral triangle whose perimeter is 3613 cm is
a 36V3em?
b 1083 em?
e 723 em?
d. 98V3em?
Answer:b




[image: image9.png]10. Whatis the area of a triangle whose base is 5 cm and height 14 cm

a 35cm?
b. 45cm?
c 25em?

2

d. 30cm




Section B
[image: image10.png]1. Check whether 3v/5 is an irrational number or not.

2. Simplify: 278 x 275
3. Find the value of k, if x — 12 is a factor of x® — 23x2 + 142x + k.
4. Factorise:dx? +9y? + 22 + 12xy — 6yz — 4xz

5. Two adjacent angles on a straight line are (3x — 2)° and (2x + 7)°. Find the value of
x and the measure of each angle

6. Find the area of a triangle with sides 28 cm, 21 cm and 35 cm.

7. Inthe following figure, XY || RS. Find the value of x.

x v

R

8. One angle of a triangle is 76° and the other two angles are in the ratio 5: 8. Find the
measure of other angles.




Section C
[image: image11.png]Represent 2,321 in the form of %

Rationalise the denominator of —=—.
EE)

Withoutactually calculating the cubes, find the value of the following:
123 + (-17)% + (-7)?

Factorise the following using factor theorem: 12x2 + 5x — 2

Plotthe following points on the graph. Join the points and name the figure so formed.

A(-3,1),B(2,1),¢(-3,-3) and D(2,-3)

Find the area of a triangle whose two sides are of length 13 cm and 20 cm and perimeter
is 54 cm.

Find the value of x and y.

58°

104

o




[image: image12.png]8. In the figure AB || QR.Find the value of x,y and z.





[image: image13.png]9. Check whether the polynomial 973 + 1577 — 97 +1 is a multiple of (~ — ;

10. Find the values ofx,y and z.





Section D
[image: image14.png]Express 4.3 geometrically.

Two sides of a triangle with perimeter 112 cm are 50 cm and 48 cm. Find the area of the
triangle. Also, find the length of altitude corresponding to the side of length 50 cm.
Verify the result.

Find the remainder when x® — 4x% — 11x + 33 is divided by x — 3 by long division
method. Verify the result using remainder theorem.

iy 7}1) 3, find the value of
(+3)
i ()

Prove that angles opposite to equal sides of an isosceles triangle are equal.
Inthe adjoining figure, ABCD is a square and CEB is an isosceles triangle in which
EC=EB. Show that ADCE & AABE.




[image: image15.png]6. Find the value of x, for which the given lines AB and CD are parallel. Also, find the values
ofyandz.
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